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General Instructions :

(i)  All questions are compulsory.

(i) The question paper consists of four sections A, B, C and D.
Section A caontains 8 questions of 1 mark each, Section B is of 10
questions of 2 marks-each, Section C has 9 questions of 3 marks
each whereas Section D is of 3 questions of 5 marks each.

- (iti)  There is no overall choice. However, an internal choice has been
provided in one question of 2 marks, one question of 3 marks and
all the three guestions of 5 marks weightage. A student hus to
attempt only one of the alternatives in such questions.

(iv)  Wherever necessary, the diagrams drawn should be neat and
properly labelled.
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1. What causes swelling of the lower limbs in patients suffering from filariasis ? l
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2. Name the world’s most problematic aquatic weed. What is the nature of the
water body in which the weeds grow abundantly ?
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34 Name the Indian variety of rice patented by an American company. |
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4. List any two adaptive features evolved in parasites enabling them to live

successfully on their hosts, I
IS & rge @ i, S wshfat 3 et fesfim g &, wf 3 o
T W AeEES ® w5

N

Whatis the major difference you observe in the offsprings produced by asexual
reproduction and in the progeny produced by sexual reproduction ? |
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6. Name the types of synthesis ‘a” and ‘b’ ocewrring in the replication fork of
IINA as shown below: : 1
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What causes speciation according to Hugo deVries ?
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List any two cconomically important products for humans obtained from Apis
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SECTION B
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Why is using tobacco in any form injurious to the health » Explain,
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Name the interaction in each of the following :
@) Ascaris worms livin g n the intestine of human

(b} Sucker fish attached to the shark

(c)  Smaller barnacles disappeared when Balanus dominated in the coast of |

Scotland

(d)  Wasp pollinating fig inflorescence
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A mother of one year old daughter wanted to space her second child. Hey
doctor suggested CuT. Explain its contraceptive actions.
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What is divergent evolution 2 Explain taking an example of plants,

Wﬁm%m%?ﬁﬁﬁmm%ﬁﬂﬂwﬁw

Thermal power plants are inevitable in an industrial and densely populated
country like ours. What harm do they do to the environment ? Also mention
any precaution that could be taken to save our environment,
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A man with blood SToup A married a woman with B group, They have a son
with AB blood Eroup and a daughter with bload group O. Work out the cross
and show the possibility of such inheritance,

Or

The male fruit fly and female fowl are heterogametic while the female frujt
fly and the male fowl are homogametic. Why are they called so 7
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15.  The flower of brinjal is referred to as chasmogamous while that of beans js

cleistogamous. How are they different from each other ?
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Study the linking of DNA fragments shown above.
(1)  Name ‘3’ DNA and 'y DNA.
(1) Name the restriction enzyme that recognises this pali ndrome,

(i)  Name the eNzyme that can link these two DNA fragments,

—2_ DNA —5_ DNA
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Name the blank spaces a. b, ¢ and d given in the following table :

Type of Microbe Scientific Name Commercial Product
Bacterium a Clot buster enzyme
b Aspergillus niger Citric acid
Fungus Trichoderma polysporum C
Bacterium d Butyrie acid 2

ﬁaﬁmtﬁwﬂﬁ@ﬁma,h.chWimmmﬁ‘

HERSfiE 1 yEy i am A 35978
i) a YT IS AT Usre
b CRRTSTEE AE GIEECIE L
FAF ZrEiEal gictegior c
S d R v

Differentiate between a detritivore and a decomposer giving an example of
each, 2
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SECTION C
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One of the codons on MRNA is AUG. Draw the structure of tRNA adapter
molecule for this codon. Explain the uniqueness of this tRNA 7 3
mRNA 9 3ufedrd Fieri 4 4 oF Fei AUG 2| 3d FieH + fom (RNA
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Explain the process of charging of tRNA. Why is it essential in translation ?
{RNA ¥ =1fsin =i whirn qagngu| Zases (sHEae) 8 98 yiwa 0 aAfHar
87

(i)  How and at what stage does Plasmodium enter into a human body ?

(1) With the help of a flow-chart only show the stages of asexual
reproduction in the life-cycle of the parasite in the infected human,

(ifi)  Why does the vietim show symptoms of high fever ?
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Expand MOET. Explain the procedure of this technology in cattle
improvement.
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How and why is the bacterium 7Thermus aquaticus employed in recombinant
DNA technology 7 Explain.

Or

(a) What are “molecular scissors” 2 Give one example.
(b)  Explain their role in recombinant DNA technology.
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24. How do organisms manage with stressful conditions existing in their habitat
for short duration ? Explain with the help of one example each. 3
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25.  Anon-haemophilic couple was informed by their doctor that there is possibility
of'a haemophilic child be bomn to them. Explain the basis on'which the doctor

conyeyed this information. Give the ¢ genotypes and the phenotypes of all the
possible children who could be born to them, 3
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26.  Draw a labelled diagram of the microscopic structure of a human sperm. 3
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27.  Swdy the population growth curves in the graph given below and answer the
questions which follow :
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(1)  Identify the growth curves ‘a’ and ‘b,
(if)  Which one of them is considered a more realistic one and why ?

dN_ (K=NY 2 )
@y JIf E——rhl K|S the equation of the logistic growth curve, what

does K stand for ? :
(iv) What is symbolised by N7
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SECTION D
@UE D
28, Atrue breeding pea plant homozygous for axial violet flowers is crossed with
another pea plant with terminal white flowers (aavy).
{a)  What would be the phenotype and genotype of F and F » Benerations 9
(b)  Give the phenotype ratio of F, generations,
(c) List the Mendel’s generalisations that can be derived from the above
Cross.
Or
(@) Explain Griffith's series of experiments where he witnessed
transformation in bacteria he worked with.
(b)  Name the scientists responsible for determining the biochemical nature
of “transforming principle” in Griffith’s experiments. What did they
prove 7
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29.  Draw g labelled diagram of the sectional view of a matuy
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0. (a)

(b)

(a)

(b)

(31)
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(&)

recomhinant DNA technology.
Or
What is a plasmid 7
What is meant by ADA deficiency ? How IS gene therapy a solution fo
this problen 7 Why is it not g Permanent cyre 7
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